LA,

LEGENDEX ROGUE M.O.L.L.E

PRODUCT CODE: MR-JNY-CADDY

Jimny Side Storage Caddy

LEGENDEX.COM.AU (07) 3203 2333

AQAvO-ANr-13S-3d :3d0D 10NAodd



https://go.cin7.com/Cloud/ShoppingCartAdmin/Products/Product.aspx?idCustomerAppsLink=1136164&idLegendex3AU_Products=2088&SID=782558811&idWebSite=24245

CHECK YOUR PACK LIST

Once you have unpacked the system from the box make sure you have all parts that are
listed on the packing list below.

AQAvO-ANr-13S-3d :3d0D 10NAodd

COMPONENTS

1 x MR-SETJNYCADDY MOLLE Side Storage Caddy

1x MR-JNYCADDY-KIT Side Storage Caddy Euro Flo Kit

2 X CON-MOLLEWASHERWMS45 M5x10x0.8 Flat Round Washer [WMS3045 |
2 x CON-MOLLENUT-M5- 811772 M5 5mm SS 304 Dome Nut [811772]

2 x CON-MOLLESCREWMbX12- 811464 M5X12 SS 304 Countersunk Bolt [811464]

3 X CON-MOLLESCREWM4X12- 811443 M4X12 SS 304 Countersunk Bolt [811443]

3 x WMS3044 M4X9 SS304 Washer
3 x NDMS3044 4mm SS 304 Dome Nut
0.5 x RS788 15mm X 9mm Adhesive Back Foam Seal

TOOLS REQUIRED

4mm Allen Key

Screw Driver
Flat Head Screw Driver

IMPORTANT

e Wear protective clothing including eye wear.

e Clean Hands work best.

» Disconnect the Battery to ensure you don't earth out. Or Use an Auto-
electrician.

LEGENDEX.COM.AU (07) 3203 2333




INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 1

Start with double-checking all the
correct components and gathering
the tools required.

AQAVO-ANr-13S-3d :3d0D 10NAodd

STEP 2

Fit the 3 X M4 Countersunk to the
backing plate as per photo below

STEP 3

Fit the front panel over the M4 bolt as
per photo

LEGENDEX.COM.AU (07) 3203 2333



INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 4

Fit the 4mm stainless washer and
Dome nut as per photo’s

AQAvO-ANr-13S-3d :3a0D 10NAodd

STEP 5

Once the front panel is installed fit
the M5 countersunk bolt from the
inside of the caddy and On the
outside fit the M5 Washer and M5
Dome head nut

Enjoy your finished caddy! This can be installed onto the Rogue Molle Suzuki
Jimny window panels or installed onto factory holes in your Jimny.

LEGENDEX.COM.AU (07) 3203 2333



INSTALLING YOUR NEW ROGUE M.O.L.L.E

AQAvO-ANr-13S-3d :3a0D 10NAodd

,1'1\\

FACTORY MOUNTING OPTIONS
Mounted into factory holes under Jimny rear window.

- o C o g : ]
FACTORY [ MOLLE MOUNTING OPTIONS

Mounted into factory holes under Rogue Molle Jimny rear
window panel.

LEGENDEX.COM.AU (07) 3203 2333




NOTES

AQAvO-ANr-13S-3d :3d0D 10NAodd

THANKS FOR CHOOSING A LEGENDEX PRODUCT

Make sure to join " The Legendex Nation" Facebook group to show off
your rig, share your knowledge and support other legends who share

the same passion for getting off-road and exploring Australia. M

Be sure to follow us on Instagram @legendex and use the RogueMolle
#legendexnation hashtag on your post to be featured!

LEGENDEX.COM.AU (07) 3203 2333



